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Guess Paper – 2007
Class – X

Mathematics
Time: 75 minutes                                                



MM: 50

(Students do the ncert book thoroughly. Do examples very very carefully.This is a practice paper. Try to do in the time limits)
1-10 carries 2 marks each

11-20 carries 3 marks each

Algebra test
1.  Which term of the series   12+9+6+………..   Be   -100?
2.  Find the sum of natural numbers from 1 to 200 excluding those divisible by 5?

3.   solve for x
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4.  simplify the following
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5.  A wire 112 cm long is bent to forma a right angled triangle. If the hypotenuse is 50 cm long, find the area of the triangle?
6. Simplify         [image: image4.png]4a' +a-2)
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7. One root of the equation [image: image6.png]
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  . Find the value of m and the other root?

8. Reduce the expression into lowest terms:-
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9. If (x ²- x – 2) is the HCF of the polynomials (x+1)(2x² +ax+2) and (x-2)(3x ² +bx+1).Find the value of a and b.

10. Find the A.P whose third term is 16 and 7th term exceeds its first term by 12.

11. Simplify the following
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12. Solve for x and y graphically
3x+y-5=0

2x-y-5=0

13.  The GCD and LCM of two polynomials P(x) and Q(x) are
  x( x+a )       and        12x2 (x+a) (X2 – a2) respectively,

 if P(x) = 4x( x +a)2, find Q(x)
14. If we add 1 in the numerator of a traction and subtract 1 from its denominator, the fraction becomes 1, It is also given that the fraction becomes 1/2 when we add 1 to its denominator, and then what is the fraction. 

15.  Find the value of a and b so that the polynomials P(x) and Q(x) have   (x - 1) (x + 4) as their HCF:

P(x) = (x2 - 3x + 2) (x2 + 7x + a)

Q(x) = (x2 + 5x + 4) (x2 - 5x + b) 

16. If the equation (1 + m2) x2 + 2 mcx + (c2 - a2) = 0 has equal roots, prove that       c2 = a2(1 + m2)

17. A Person can row 8 km upstream and 24 km down stream in 4 hours. He can row 12 km downstream and 12 km upstream in4 hours. Find the speed of the person in still water and also the speed of the current. 

18. A farmer wishes to grow a 100m2 rectangular vegetable garden. Since he has with him only 30m barbed wire, he fences three sides of the rectangular garden letting compound wall of his hones act as the fourth side-fence. Find the dimensions of his garden.

19. Shikha works in a factory, in one week she earned Rs 707 for working 47    Hours, of which 7 hours was overtime. The next week she earned Rs 756 for working   50 hours, of which 8 hours was overtime. What is Shikha’s hourly income rate? 

20. Find the sum of all natural numbers between 2 and 101, which are  NOT divisible by 5.

Any assistance call    09915089502
Vikrant aggarwal ,      ludhaina
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